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QUESTION 1

What is the default BGP group type on a Junos device? 

A. internal 

B. external 

C. multihop 

D. null 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

You have configured OSPF routing as shown in the exhibit. You notice that all interfaces have formed full adjacencies,
with the exception of the interfaces connecting R3 and R4 with a status of 2Way. 

What is the reason for this status? 

A. The two routers must both be configured as DR routers. 

B. DROther routers will not form a full adjacency with each other. 

C. The two routers must be configured in different areas. 
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D. The interface-type is not configured as p2p. 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 
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You are attempting to set up VRRP with R1 and R2 being participating members. You want R1 to be the master router
and R2 to be the backup router with the virtual router they create being at address 

172.25.100.1. The virtual router is not pinging from either User A or User B. 

Referring to the exhibit, what must be done to correct the problem? 

A. A VRRP policy is needed on R1 and R2. 

B. The VRRP group value on R1 and R2 must match. 

C. The VRRP priority value on R1 and R2 must match. 

D. A VRRP authentication type value is needed on R1 and R2. 

Correct Answer: B 

 

QUESTION 4

Which two statements describe NSR? (Choose two.) 

A. NSR requires GRES to function properly. 

B. NSR provides routing loop protection. 

C. NSR rapidly detects link failures. 

D. NSR provides high availability with multiple Routing Engines. 

Correct Answer: AD 

 

QUESTION 5

Which two statements are correct regarding the root bridge election process when using STP? (Choose two.) 

A. A lower system MAC address is preferred. 

B. A higher bridge priority is preferred. 

C. A lower bridge priority is preferred. 

D. A higher system MAC address is preferred. 

Correct Answer: AC 
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